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Temple University

Department of Economics

Economics 201

Intermediate Microeconomics 

Midterm Exam 01

Directions:  This is a closed book exam.  You may neither give nor receive help.  You must complete all parts within 1 hour and 20 minutes.  Point values are shown.

Multiple Choice (20 points): Choose the best answer from among the choices.

1. If an increase in income leads to a decrease in the demand for a good, the good is a(n)

a. Substitute good

b. Complementary good

c. Inferior good
d. Normal good

e. Superior good

2. Suppose that the local slaughterhouse gives off an unpleasant stench. The price of meat would then be ___________ because not all of the ____________ are accounted for in the market place.

a. Too high; benefits

b. Too low; benefits

c. Too high; costs

d. Too low; costs

e. An equilibrium; costs

3. Which of the following is not a characteristic of government rent controls?

a. Equitable distribution of apartments

b. Excess demand for apartments

c. Fewer newly built apartment buildings

d. Deteriorating quality of existing apartment buildings

e. Very low vacancy rates

4. As the price of flour (an input into the cookie production process) increases, firms that produce cookies will

a. Increase the supply of cookies

b. Increase the quantity of cookies supplied

c. Decrease the supply of cookies

d. Decrease the quantity of cookies supplied

e. Leave their production unchanged

5.  Without the aid of a clearly labeled graph, one can say definitively that if both supply and demand increase simultaneously, the new equilibrium price is __________ and the new equilibrium quantity is _________ .

a. Lower; lower

b. Lower, indeterminate

c. Indeterminate; higher

d. Indeterminate; lower

e. Higher; indeterminate

Use the following table to answer questions 6 - 8.  Mark, Bob and Joe are the only consumers of coffee for these questions.  

	Price of coffee per lb
	Mark’s quantity demanded
	Bob’s quantity demanded
	Joe’s quantity demanded

	3
	6
	10
	19

	4
	4
	7
	15

	5
	2
	6
	11

	6
	1
	4
	9

	7
	0
	3
	8

	8
	0
	1
	4

	9
	0
	0
	0


6. Market demand for coffee at a price of $5/lb is
a. 11

b. 14 

c. 19
d. 26
e. 35

7. Total consumer surplus in the coffee market when the price is $5/lb is approximately

indeterminate

a. 30

b. 51

c. 65

d. 73

8. If the price of coffee increases from $6 to $7, total revenues ____________, suggesting market demand is _____________.

a. Increase; elastic

b. Decrease; elastic

c. Increase; inelastic

d. Decrease; inelastic

e. Remain constant; unit elastic

9. Given the following demand curve, P = 62.5-.167Q, when P=$38 demand is classified as

a. Elastic

b. Perfectly elastic

c. Inelastic

d. Perfectly inelastic

e. Unit elastic

10. Suppose the marginal utility of the fourth unit of Good A is 1 and the marginal utility of the third unit of Good B is 3. The price of Good A is $1 and the price of Good B is $3.  Then the rational spending rule predicts ____  units of Good A and _____ units of Good B will be purchased.

a. 4; 3

b. 3; 4

c. 4; 4

d. 3; 3

e. 1; 2 


Essay (20 Points)

Explain in your own words, perhaps with the aid of a diagram, why a tax gasoline whose proceeds are refunded to the consumer in a lump-sum amount will nonetheless reduce the consumption of gasoline. (Write your answer below.  Use the back side of one of the pages if necessary.)

The effect of the tax is to increase the price of gasoline, swinging the budget constraint in to the origin: the brown line to the purple line.  The effect of the lump sum refund is to allow the consumer to buy the same bundle as previously, but at the new prices.  The de facto new budget constraint is the green line, but the consumer is made better off by purchasing less gas and more of the other goods than she had previously.
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Problems:

1. (30 points) For this question refer to the graph that follows.  John Steinbeck has an income of $80 per week, all of which he spends on grapes (G) and tortillas (T).  Initially the price of grapes (PG) is $2 per pound and the price of tortillas (PT) is $4 per box.  His utility function is U=5GT. 
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(a) Write the equation for Steinbeck’s budget constraint.


80 = 2G + 4T


(b) What is the greatest number of pounds of grapes that Steinbeck can buy with his income?

40



(c) What is the greatest number of boxes of tortillas that Steinbeck can buy with his income?

20


(d) When PG = $2 and PT = $4, how many pounds of grapes and boxes of tortillas will Steinbeck buy?

G = 20 and T = 10


(e) At the G and T combination in (d), what is Steinbeck’s utility?

U = 5(20)(10) = 1000 


(f) Suppose that the price of grapes (PG) rises to $4.  What is the greatest number of pounds of grapes Steinbeck can buy now?

20


(g) What are Steinbeck’s new utility maximizing choices for G and T?


G = 10 and T = 10

(h) Referring to the graph, what is the magnitude of the substitution effect resulting from the change in the price of grapes (PG)?

The move is from G=20 to G=14, or –6 lbs of grapes.


(i) Referring to the graph, what is the magnitude of the income effect resulting from the change in the price of grapes (PG)?

The move is from G = 14 to G = 10, or –4 lbs of grapes.


(j) Are grapes a normal good or an inferior good? How do you know?

They are a normal good since the quantity consumed decreases with a decrease in income.  Or, the income and substitution effects are in the same direction.

 

2.  (30 points) For this question refer to the newspaper article on the following page.

(a) What was the average (nominal) room rate in 1988?

Either 83.75 or 83.72, depending on whether you read the text or the graph.

(b) What was the average (nominal) room rate in 1989?

Either 88.96 or 89, depending on whether you read the text or the graph.

(c) What was the occupancy rate in 1989?

.69


(d) The 1989 occupancy rate corresponded to how many room nights actually purchased by guests, according to the article? 

1.3 million room nights.


(e) Given your earlier answer, what was the total number of room nights available in 1989?

1.88 million room nights


(f) What was the occupancy rate in 1988?

.72


(g) If no hotels closed and no new hotels were opened between 1988 and 1989, what was the number of room nights purchased by guests in 1988?

1.356 million room nights

(h) Using your earlier answers, estimate the elasticity of demand for hotel rooms in Philadelphia. Do not try to adjust for inflation.

%(P = 6% according to the article.  Or (89-83.75)/83.75 = .063
%(Q = (1.3-1.356)/1.356 = .04
( = .04/.06 = .66


(i) If the goal of Philadelphia hoteliers is to maximize revenues, should they raise or lower rates for 1990?

They should raise rates since demand seems to be inelastic.
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		9		5.5555555556		11.1111111111		22.2222222222		33.3333333333		15.5		11		2		19

		11		4.5454545455		9.0909090909		18.1818181818		27.2727272727		14.5		9		-2		17

		13		3.8461538462		7.6923076923		15.3846153846		23.0769230769		13.5		7		-6		15

		15		3.3333333333		6.6666666667		13.3333333333		20		12.5		5		-10		13

		17		2.9411764706		5.8823529412		11.7647058824		17.6470588235		11.5		3		-14		11

		19		2.6315789474		5.2631578947		10.5263157895		15.7894736842		10.5		1		-18		9

		21		2.380952381		4.7619047619		9.5238095238		14.2857142857		9.5		-1		-22		7

		23		2.1739130435		4.347826087		8.6956521739		13.0434782609		8.5		-3		-26		5

		25		2		4		8		12		7.5		-5		-30		3

		27		1.8518518519		3.7037037037		7.4074074074		11.1111111111		6.5		-7		-34		1

		29		1.724137931		3.4482758621		6.8965517241		10.3448275862		5.5		-9		-38		-1

		31		1.6129032258		3.2258064516		6.4516129032		9.6774193548		4.5		-11		-42		-3

		33		1.5151515152		3.0303030303		6.0606060606		9.0909090909		3.5		-13		-46		-5

		35		1.4285714286		2.8571428571		5.7142857143		8.5714285714		2.5		-15		-50		-7

		37		1.3513513514		2.7027027027		5.4054054054		8.1081081081		1.5		-17		-54		-9

		39		1.2820512821		2.5641025641		5.1282051282		7.6923076923		0.5		-19		-58		-11

		41		1.2195121951		2.4390243902		4.8780487805		7.3170731707		-0.5		-21		-62		-13

		43		1.1627906977		2.3255813953		4.6511627907		6.976744186		-1.5		-23		-66		-15

		45
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